110 & B4 38 = s ir A B 4 R

=
Ba1A~% l%;}i,{ﬁ N Iﬁﬁ*ﬁﬁé}
’ IR T YT TR
Féﬂi:l’:'& ,J B; }l%}i |
MTR O R ;;?E z .
O * & F)4E > (TEPEE :J&—Fé%iiﬁil BEGRIA R AL ALY FFE 0 A3 PR o

— ~

i

EITTRINAT T e P AR BT

WA AR - VARG F RS P e srig el B ez v R
Tl AR AR G OR B OBCORESE AR 2R 2 & Pl A F) 4 A (deactivation )
-l (degradatlon) g 1S - .@J‘ﬁf.ﬁ 7iE 0 d A A s F R
fl}r‘]ﬁ??%-““ R P S = B kS A - N PR e IR e
PR “?ﬁf%@ﬁ4#°ﬂ<’Wh4%hﬁéﬂﬁﬁ ZEAE
N TRB T B H W e i BRI R TR E B MY E T e & 4 TR
BAFERH L DR 51950 d & ~ %5 ~2F V5 ~ %7
Fo P P F0 e )P B Flemn ke it TAERY AR LAY L
?aﬂ“% A A S I Ek S AL
hip”pﬂWMéqk§$E%£W@%-(%é)

3 gt T 2io4p | (heterogeneous) 4 & - H Bip e v o & T e
ﬁJ*rJ%ﬁJ%#ﬁl%m&4%%*$%(i)§ﬂ%ﬁﬁ’ﬁ
FWAR LRI RET P HZEF L 05%D 5%hH 1 gL o
B AERF AP B R R S F R BT o (R IR
%%ﬁﬁﬁé’@%&ﬁ%%ﬂigrﬂ%¢Jﬁ%&¢#¢&o%‘
= 944i¥m}3#§?{r/\ﬁu< 0.5%= rsj_ 5O » 5—%&4&%:‘ Fﬁf}%J
?%—iT%LMW¢ 2 (T logKow>2) & AN 5 44 0 P f &
fﬂ%kﬁé’*ﬁ%?%%ﬁQO@mk&%“iiw g T g

&
\g\
™
S

ﬁ'&

i

ke

SHEEIER? (LR Kkt s hem J\H%éﬁm\% | BB
# T4 ehd ek ¥ (retardation) #4015 @ 0 11 E JF AP L N5 L
PlE R kR A EFPFT I EARA AR AN AR

EPARFTAEL o ) (254 )

O
kil

HP o it o ¥ AGE A § AL - (15 4)
WP K AR HcS B G 2 B X RS B i 2 o (15 4)

T

\:\j‘\\

P BT DGR e ? T ST PR 5 B BpaRse 2 4 d sk
72 oo (20 &)



